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Q101. The elements which show variable valency :

& e o oRad T e A E
A. inert gas /31ThT 3T
B. non metals /?\T?.TIT;T
C. dblock elements /?f@ﬁ??—l?:r
D. sblock elements /UQ-TWVIEFHF:'
Sol-

e Some elements show more than one type of valency these types of valency are called variable valency.
These types of compounds show a valency in one compound and another valency in other compounds.
Variable valency is shown by elements like Iron, mercury, and copper.

Transition elements show variable valency.

For example: in some cases, iron shows a valency of 2 like ferrous sulphate (FeSO4), and in some, it shows
valency of 3 like ferric chloride (FeCl3).

Copper shows two types of valencies 1 and 2. Mercury shows two types of valency 1 and 2.

Metallic elements are generally elements which can donate electrons like s block elements.

D block elements are also known as transition elements except II1B elements.

Elements of p block are non metallic elements.

o T dcd U A 3UH GehR T ThITehcl T& RT el & 3 TR T HATSTehel I IRAAT FhrTehcl
FEd ol

9 YR o A3 Ueh FifaTen 7 FATTehdT a1 317 A3 & TATSThdT Te 1 d I g |

ailg, IRT 3R Jie Y Tedl EaRT TR TASTHAT 6@ S §

HHAT Icd IRATTRITS TITSTehdT TG 12T X & |

3CTEX0T o foIT: e Al #, oitg Hd Tethe (FeS04) T alg 2 I HAISTehal lG@IAT g, 3R Fo #, T8
%R FARTSS (FeCl3) T aRE 3 T GATSTehdT e@TaT

o I E YRR HT FHISTRT 1 3R 2 ZTAT ¥ | T &l bR T FroTehedl 1 3R 2 EMT &

eTfcdeh ded AR 9 0F dcd Bl & oIl s Selfeh decdl ol dig Selarelall ot &lef T Hhd & |

3T Selleh dcal T SIS T BISH ThHAUT dcdl oh T H T JATAT ST

o p&dlleh o ded HenTfeds dca g |
Q102. Which compound is called ‘Carborundum’ ?
g I3 Y ‘FERSH FeT ATATR?
A. Calcium carbide /HToRIIH FIETSS
B. Aluminium carbide /UF{I)@'%WWEE
C. Boron carbide /@RTsT HTETSS
D. Silicon carbide /Aol FETEs

Sol-

Silicon carbide:

e Itis commonly known as Carborundum.

e Itis a unique compound of carbon and silicon and is one of the hardest available materials.

e The chemical formula of silicon carbide is SiC.

e Its molar mass is 40.10 g/mol.

e Itis asimple compound with the carbon atom attached to silicon through a triple bond, leaving both
atoms with a positive and negative charge.

e However, the bonding between them has a predominantly covalent character, rather than ionic.

Rfosia FEtEs:
o 3U NHAR R HEREH o ATH I AT ATAT & |
o IE F1a 3R RAferleT 7 Ua 3retor e § 3R T Hfoet suasu e AR A A TH B
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o fAfoeia FreTes & Taafas g sic gl

o SHNICIG geIdHATT 40.10 g/mol gl

o IF UF AIURT A § TS Fieet TAT] feuet dies & Az ¥ fafoeler & Seratar &, arst
ALY T FHRTeAH 3R ARRIHE Tt 3 T BNS S8 |

o I, 37k A & T 7 3TATH & T HET T F TgHAeTh IRT Gl

Q103. High boiling point of water is due to :
UTeiY T 3T FaelTeh fahdeh 0T 81T &
A. Weak dissociation of water molecules /qwﬁ%yqaﬁwwsﬁwqw
B. High dissociation of water molecules /m?i’ramupﬁasr&a JAFHIOT
C. Hydrogen bonding amongst water molecules /W%S—TU;BJTQ?WE §§ STeT ST
D. Van der Waals forces of attraction amongst the molecule /aﬂgTWHUIa?WWW
Sol-
e The boiling point of the liquid depends upon the pressure of the surrounding. So, when the liquid is at high
pressure, then it has a higher boiling point than the boiling point at normal atmospheric pressure.
Furthermore, the boiling point of a substance is dependent on the pressure of its surrounding.
Now, the high boiling point of water is due to the presence of Hydrogen bond. Multiple hydrogen bonds
occur simultaneously in water because of its bent shape and the presence of two hydrogen atoms.
e Moreover, in the liquid state, the hydrogen bonds of water can break and reform, as the molecules flow
from one place to another. The electrostatic attraction between the partial positive charge between the

hydrogen atoms and the partial negative charge close to the oxygen atom allows the formation of a
hydrogen bond.

o TR FT FAYUATH HHUTH & &aTd WX TR Il § | SATAIT, T ol 3T &a1d H gIdT g, Al SHPT
FaYeiieh HHY AGHSAY gaTd H Failieh ¥ 1T gicl & | $Heh 3o, fohdl TeTs) 1 Faueiich 3Hh
3TEYTH % &o1d T AR AT & |

o IS, Tl T ITT FIUAT BIggIoleT A1 I 3UTEATT & HROTRIAT & Il & 73 §U 3R 3R &Y

BTS3ToteT TRATOT3TT & 3ufEufeY 3 HROT A1 # T H1Y S FISIol SIS gl ¢ |

SHb ITCITaT, el IAEAT H, UTel o FISgIolet Ul €& Hehdl o 3N FUR Hevcl §, F1Teh U] Teh FATT A

GO T T g dl BIct & | ST gTolel TRATULT & sIer TRk HehRTcHsh TTol AR JiTeReiioTel TRAT

U JHITRAF AFRTcHS Aol & A4 FAFCIEC [Ceh TRV FISZIoTeT LT o ITGe hi A ST B |
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Hydrogen bond

H

Q104. In an electrochemical cell, there is the conversion of:

Teh Taegd T Aol H, T TR0 Il o

Electrical energy into chemical energy /Wﬁ%%ﬁﬁﬁagﬁmﬁ
Chemical energy into electrical energy /Wﬁ‘fﬂﬁ?@ﬁﬁsfﬁ
Chemical energy into heat energy RrarafaE Far ST For 7
Mechanical energy into heat energy [T Foll FSHT Far 7

o 0w >

Sol-
e Electrochemical cells can generate electrical energy from chemical reactions. It is of two types. Galvanic
cells and electrolytic cells. Galvanic cells are also known as voltaic cells. Galvanic cells are involved in redox
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reactions whereas electrolytic cells do not involve non-spontaneous reactions. Electrolytic cells require an
external source like a DC battery or an AC power source.

e The redox reactions are the reactions in which both the reduction and oxidation reactions are done.

e The reduction can be defined as a lone pair of electrons and the oxidation can be defined as loss of
electrons.

e Thus, in a given chemical reaction one compound can undergo reduction and the other compound can
undergo oxidation.

e An electrochemical cell gives unstable voltage, unstable current and low power are the disadvantages.

e The material can also not be recycled. The advantages are low cost and non-toxic substances.

e Thus, an electrochemical cell converts chemical energy to electrical energy.

o SoFCIhIHD Yol TARTS FTATHATIN & faegd FoiT cewt X Heohl § | TE & TR BT |
Feafas Aer 3R soFeIasics Ao Feafas Ao F alecrss Ao 8 FeT AT ¢ | Feafas FifRHT
i gfaferansit & enfae gich § Staf seaciarsies wifdesit & d-agst ufafsare enfae 78t i
| SorarcIaTs e FITABTIT I ST ST IT THY U1’ AN S ST Al T ATl el & |

o LEiFm ufafsrart o gfafshamd gidt & foiaet srelt 31k 3ifadaor arat wiafsare gt &
o FHHY P SAFCIHAT I Teh 3ol SASY F & H GRTNT forar ST ehaT & 317 3iTareliaior Y soieeiei &
TR 3 9 7 TR T ST FFa B

o 3HYSN, & IS TETAiA Ui fehar 7 veh Tifaren 1 3ot gt Herd & 3R g A o siferdieor
HEEGIES

o U fogd TaafaE Ao AR decst & §, AR o 3R # fed T €

o HH N TATANeIT0T 87 TET T ST Hehell & | HIIG o oraTet 3R IR Fadter wereh 8

o SHYFR, UF SAFCIRTAG Yol TAATE Fofl 1 faegd Fa 7 aRafdd Farg |

Q105. During heavy exercise, the supply of blood increases towards

HRY SATATH o SRTeT Tehel T 3Tl 96 ST &
A. Brain /f&HTeT
B. Skeletal Muscle /aepTel ST FATEILRT
C. Skin /cadr
D. Kidneys /U;Ié'

Sol-

During exercise, more blood is sent to the active skeletal muscles, and, as body temperature increases, more
blood is sent to the skin.

This process is accomplished both by the increase in cardiac output and by the redistribution of blood flow
away from areas of low demand, such as the splanchnic organs.

SATATH & ST, Tfohd heplel shT ATFATAT 7 31T Tord HSTT ST 8, 3R SHA-51 QR T dT9HATH S6T g,
oI 1 31T & AT ST B |

Ig ST TS TR IT3CYE A e fer 3R o HiaT arel &Y= A & T FalTg oh Yol 0T EaRT g I ST &,
S T ToleTa e 37T

Q106. Size of cells are measured in
HITRART3T T THR F ATIT AT &
Millimetre /fAeldET
Centimetre /8¢IATEY
Metre /HTeX

Microns /HTSshlel

o 0N » »z

Sol-
They are the smallest units of life and hence are also known as the "building blocks of life".
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All living organisms are either composed of single cells i.e. unicellular or are multicellular organisms composed
of many cells working together.

Cells were discovered by Robert Hooke in the year 1665.

The number of cells in plants and animals varies from one species to another.

Most plant and animal cells are only visible under a light microscope, with dimensions between 1 and 100
micrometers.

The unit for measuring the size of a cell is microns.

q SiaeT T g8 B SH1sAT & 3R sTTAT 3¢ "Siaet F AT @3 & T F oft Srer S 81
Hﬁ&ﬁﬁﬁsﬁam%ﬁﬁﬁﬂﬂ%ﬁﬁ&ﬁgﬁ%aﬁuﬁ%ma@ﬁlﬁsﬁagﬁ%aﬂ%w
FIH FaT dTell s PIAPIINT T TA BT 8

ﬁf%\la?raﬁaﬁrmrhéga:ﬁaﬂ‘r 1665 F T Y|

ottt 3R SeTaRT 31 RT3 T FEAT Tk FoThet ¥ GERT Tairel F e gl 51

rfererer aier 3R 2] IRAAIT Sharer Te ehrer gaaeelt & o fewms &l 8, oraeT 1 31K 100 ASHIFA &
daH AAHET B

el & 37K I ATTA ST SehTs HATSohIT & |
Q107. Malic acid is found in
A 3T T ST

A. Vinegar /TORaT

B. Redants /?vl'l?—r?.ﬁﬁ'éﬁ

C. Apples/as

D. Milk/g&r

Sol-

The name malic is from the Latin for apple, malum.

Malic acid is found in other fruits such as grapes, watermelons, cherries, and in vegetables such as carrots and
broccoli.

This acid is mainly used in food applications including candy and beverages.

Ao A AfeT & e, ATeH & [T g
Aiferen TfAS 31w ol S 39T, TS, DT 3N AieoTal S a1 3R sitehtell H ar ST & |
Ig TS AT &9 4 $H31 3R 9 verdl dfgd @ie 3qaaien # 39T fhar Srar g |

Q108. Impure water can be made pure
3TR[CEN STl T T FATAT ST Fehell &
A. by adding alum /ftheaiT STela
B. by boiling /Theai STeleh
C. bothaandb /a3 Bt
D. none of these /318 ¥ PIS Gl

Q109. If the intensity of incident radiation is increased, then what will be the impact on the number of
electrons emitted?

e 3mafad fafeRor A draar ser & SITe, ar 3cafsia seierelaAT I TEAT 9T FJT JHIG T9T?

It will increase/&aTT

It will decrease /€¢aTT

It will increase and then decreases /?J%'aﬁTIT}ﬁTﬁWTHé?TT

It is independent of the intensity of incident radiation /WW%H%WT@TW@W%

o 0N ® >z

Sol-
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Photoelectric effect: It is the phenomenon of emission of electrons from the surface of metals, when light
radiations (Electromagnetic radiations) of suitable frequency fall on them.

The emitted electrons are called photoelectrons and the current so produced is called photoelectric current.
The number of photoelectrons emitted depends on the intensity of incident light.

Larger the intensity of incident radiation, larger is the number of incident photons and hence larger is the
number of electrons ejected from the metal surface. Therefore, if the intensity of incident radiation is
increased, then the number of electrons ejected will also increases.

SRSl e et FoTar: g UTI31T hT HAg & Solarciall o Scdolel shl BeT o, ST ST Ty o Fenrer fafenwor
(faega greha fafeon) 3a W asd gl

TSI SolFTll T BIEISoIFeiel el ST § 3R 3T FhR 3ol URT I BleIgol e Hic gl ST g |
3cafoTd BleISelaelal sl FEAT ITfad Wehrer st Jigar W) IR FTdr 2

3rafere fafeRor dr cierdr fordett 31fRres gial, 3mafar wreler S aear ae & 31fi gl 3ik safore arg
g T fSerTor 3T Solareiat shr T 3t 3118 g9l | safarT, afe smufaa fAfeRor fr gar serdramh g, ar
3caford Solereiall st T off 96 Sueft|

Q110. The critical angle of light passing from glass to air is minimum for:

e § AT ek STl aTell TN T hifcieh 10T ole=t o foT sgeTaa g o

A. Green/ g

B. Red/®dTel

C. Yellow/ el
D. Violet / d3r=AT

Sol-
Critical angle of light passing from glass to air is minimum for violet colour.

Sfaretr a1 3 T & A & 3 Ao aTel ThTer & Shifcleh hIoT =gl BIcT & |

Air

Q111. The image shows the structure of a flower.

o3 T Fool T XA T G B

Which process will likely be disturbed or not occur, if the labelled part is removed from the flower?
I oot A oIeTeT ATell 19T g ferT ST A ahlet-&r sk anfere giaf ar =gt grafr?

a) Formation of fruit /el onl ITSeT

b) Transport of pollen / GXT3T T GRAGT



GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 24

c) Formation of pollen / 93T &hT IS
d) Development of pollen tube /W@@Wfaiﬁm

Development of fruit

GERMINATING POLLEN
STIGMA FRUIT WALL

(PERICARP)
STYLE
OVARY WALL——Mm™
o POLLEN TUBE SEED

OVULE
EMBRYO SAC

OVARY CAVITY

THALAMUS

Q112. When two liquid material do not mix with each other and do not make solution, then they are called-
SIS &1 &d YT 3T9H H o761 faeld g 3R forIet 161 911l &, AT I Fgelld &-

Solvent /%FITEIE

Solute /Aol

Immisible /310y

Decantation / f3&e 2T

Sol-
The two liquids that can't dissolve in each other or the two liquids in which diffusion can't takes place are

called immiscible liquids.

I 2T & i Ueh qER A LT Tl Hehcl AT A & o ToleTal (a0 g1 81 Hebell, JTTASOUNT o gl 8 |
S S

Liquid A

'._ Meniscus

Non-miscible Miscible

Q113. If two unequal masses possess the same kinetic energy, then the heavier mass has:
Ife & I AT GeTHTEAT H FHTA Tt FAT 8l &, AT AR GeTHTA H 8l o

A. higher speed /3T afa

B. lesser momentum /&eT 1T
C. greater momentum /31f8e aTfar
D

lower speed /A IS

Sol-
If two unequal masses possess the same kinetic energy, then the heavier mass has greater momentum.
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e &Y 3TTATT geTHTAT & THTT ST ST 8ldT &, df Y G AT T 9T 31T BT B |

Q114. A chemical reaction in which heat is generated is called a/an

Teh (AT Toteh 3TTRTHAT ToTe] AT 3ot 81T &, el &
A. endothermic reaction /M?W&l‘fﬁm
B. exothermic reaction /3T yfafshar
C. combustion reaction /ag?rsﬁﬁﬁ»‘m
D. displacement reaction /fa&arast gfafsrar

Q115. gas is used as an illuminating gas.

_ A IUIRT YR e dTell 31 o &9 H fRar Arar g
Methyl /fAaSer

Propane /9Tdel

Butane /g?lﬂ

Ethyne /TATSH

o 0w >

Sol-

Propane gas is used as illuminating gas.

The molecular formula Propane is CsHs.

Propane is the gas normally used for cooking in the form of Liquified Natural Petroleum (LPG).

I IR ST UATIT AR o ATell 31T o F  fohar SITaAT g |
ST ST JATUTRAS T CaHs ¥
T FHAT &9 & AL T fcieh TSI (Terdiof) & & # WAl Tehlel & foIT 3u2er 1 ST arelt 4 &

L 3 @
@ “%9. g%
@ 9@
-4 A e’ -
C & C.
Methane Ethane Propane
i T i W
H-C—H H-C—C—H S S
H H H H H H
Q116 el 7 FaH 95 WA I B |
A F
B. O
C. Li
D. H

Sol-

Lithium (Li) element has the largest atom.

Largest atom is defined by its atomic radius i.e. the distance between nucleus to its outermost orbit/ valency
shell.

As we move from left to right in the periodic table the atomic radius decreases.

But as we go down the period in the periodic table the atomic radius increases.
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Hence lithium has the largest atom and it is greater than Hydrogen (H), Oxygen (O) and Fluorine(F).

TATH (Li) dea # Gad 93T RATT BIAT L |

T FST IATY] SHRT AT BT & GRHATA EIell & ATl AT o srer 2l Herdy STE HaTl / FhroTehell
Frar AT |

SIA-SHY & 3T AR 3 ¢ W &l Teid §, TRAT] s gech s &1

IfShe SIA-SH 1 31Taret AU 3 701 STt 8, IRaAT0] P areelt STl 1

safaT e 1 9T Jod 957 § 3R T §T8511 (H), 3iTeeiete (0) 3R Foll{iet (F) A ST R |

< 18
Increases 13 14 15 16 17I
2 [c N8 |

Increases

<«

Ce| Pr| Nd|Pm|Sm) Eu Gd| Tb | Dy | Ho| Er | T vb| Lu

Th|Pa| U | Np| PulAmCm|BK |C | Es [Fm|Md| No| Lr

Q117. Atomic radius is measured in:
TRATY] ST T AT STl 8
A. Micrometres /ATSShIHTCT
B. Nanometres /ol HleT
C. Millimetres /fAeTHIET
D. Centimetres /8cIHET
Sol-
Atomic Radius is measured in Nanometres (10° m).
Atomic Radius is defined as the shortest distance from Nucleus to its Outermost Orbit.

It can also be measured in Angstroms (A°).
The Atomic radius decreases from left to right and increases from top to bottom in a period in a periodic Table.

TRATY] ST &l Al (10°° #ed) H AT S |

TRATY] ST ol g [F ol d W SHebT Herll FTE HaTT cleh 2l Ferdl DI G oh &9 H TR fohar rar g |
Y TITEiFg (A°) & &Y ATIT ST HhaT &

3TereT RO o 3Tact 7 ATY] TSI 10 A &0 el § 3R SR A & i I Ted g |

Qi1s. compound is used as a drying agent.
3Tk T 3TLT FET dTel Toie & & H fhar g |
Calcium oxide /& ToRTIe 3iTFaTES
Calcium carbide /%f?%masra‘rsg
Gypsum /Torcq@e
Calcium carbonate /3 foRR—IA FEfae

o 0w >

Sol-
Calcium oxide (Ca0O) compound is used as a drying agent.
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Drying agent is used to remove water form an organic compound.
Calcium oxide is used to dry ammonia gas.

When Limestone (CaCOs) is heated, it gives Calcium oxide.

CaCOsz - Ca0 + Co,

It also known as quick lime.

It used for manufacturing of cement, paper, Caustic Soda etc.

HieRraH 3HaTSS (Ca0) TN T 3TN U aTel Toie & &9 A fhar Srarg|
Teh el foieh AT & & 7 ITell 31 oehretal & forT @t arel Toie &1 3u2eT fhar Srar g |
AT I T G@Te o ToIT Hierae iTFATSS T ITANT o STl B |

AT IeA (CaCOs) Y I Flel UX TG oA 3TFATSs ST 8|
CaCOs3 - Ca0 + Co,
=0 fFas ogd & A1 & Y ST AT 8 |

SHHT 3TN HFT, H1ITT, FIiTesh AT 3 F AT & fow fFar srarg|

Q119. is the property of attracting electrons by the halogen atoms in a molecule.
Te 370 3 FellateT IRATUT3 EaRT Soragiall &1 3TN e &1 0T |

Electron affinity /WIFTEIT-‘?:],’HT

Electropositivity /Selaeaifafefaer

Electrochemistry /SolaraToh T

Electronegativity /WWWFHWT

o 0N ® >

Sol-

Electronegativity is the property of attracting electrons by the halogen atoms in a molecule.
Electronegativity is a measure of the tendency of an atom to attract a bonding pair of electrons.
Fluorine (F) with atomic number 9 is the most electronegative element.

SAFCIANETAET Uehs 3T H Gl ofel TRATUIHT ST Selereleil sl HTh T &let hT Hafd &
SAFCIANETAET SeleFeiall hT Teh STl SNSY b TR Tl el & [oTT Teh IRATI] Y T el T Teh IUT |
URATU] ShATeh 9 aTell FelileT (F) T 3T faegd &OTcHs dcd 8|

Q120. The pollination by snail is called

Qe AR [ STl ATl TRETUTR _ FET Sl &
A. Zoophily / STl
B. Entomophily/ TecIAI el
C. Chiropteriphily / FaRIcex fhelr
D. Malacophily / HcITI eIl

Sol-
Pollination by snails and slug is called as malacophily.
These flowers have long blooming period to facilitate access of pollen to snails.

bTer 3R Eel9T GaRT IRIETOT T HATRI el el STl & |
EITEY e U191 T UG hi GIATSTeteh siaflet & [T Sa7 Gl bl il Jrafer i 1

T



